MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

CHALLENGE Name:
Time: Score: J_

51) (0.008 % 33 = 55 (.11 x 22.8 =
20 —(.06 x 0.0172 = 557 —0.08 X 47.3 =
3 —0.7 x (—=6.3) = 59 0 X (—4.46) =
) —0.03 x (—4.11) = 59 —0.004 X (—0.22) =
5150 0.0007 x 1.29 = 5600 —0.001 x 0.0168 =
6 (0 x (—4.99) = 6 —0.011 x (=3.13) =
) () x (—=39) = 5620 —0.002 x (—0.7) =
5 —0.06 x (—30.1) = 563 —0.0006 x (—0.87) =
59) 1 x 3.06 = 564) - 0.0004 x 454 =

50 0.003 x (—0.0053) =
w1 0 x (—0.28) =

552 —(0.09 X 352 =
w0 x (—0.005) =

w50 —0.001 x (—25.4) =

) —8 X (—0.0436) =

Mathematics: Multiplication - Level 7 - Horizontal - Set 2
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0.11 x 0.0036 =
—0.006 x (—2.14) =
0.008 x 181 =
—0.002 x 0.97 =
0.07 x (—29.7) =

0.004 x 10 =
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